[N of reconstructed tracks vs dR__]

N of associated tracks (recoToSim) vs dR ]

[%]
X
Q
IS
= 3
s 10
10?
10
o 4
kS
T 3
2)
107 107 10t 1 107 1072 0% 1
track min AR track min AR
[N of associated (recoTosim) looper tracks vs dR_|
3 8
s 5
£ 2
2
810 8
=
=3
{%ﬁ °
—=— DQM_old
—— DQM_wrong
—=— DQM_V0001_R000000001__Global,
ie] ie]
T T
4 o

107

1 . 1
track min AR

N of reconstructed tracks vs dR(track,jet) |

1072 0% 1
track min AR

[ of associated tracks (recoTosim) vs dR(track,jet) |

%] 19
] ]
S feeecie IS
= 5
(3]
2
E
10° 10°
iel e “
I T
[ @ 2
1.5
et I
107t 107 1072 107t
track AR(track, jet track AR(track, jet
[ ot associated (recoTosim) looper tracks vs dR(rackjet) |
%] ] E
S S
g g
5 5
[} Q
e 2
ke g
a
=]
o
L8 il
T ©
o4 @
Py
1 0
107 102 107 1072

1 -1
track AR(track, jet?

1 -1
track AR(track, jetg)



	Contents
	Page 1


